FB Mounting bracket - 49

FuBbefestigung
S ®]
— v y
&)
! L 3 = ;JI
i -
m '}'lﬁh L
<t£ e e e A - 5
M ﬁ' e i %
N . . -
_AA S
2 18 mm @ 25 mm @32 mm @ 40 mm @ 50 mm @ 63 mm
AA 15 18 20 30 28 30
AB 2 2 2-May 3 3 3
AC 10 12.5 13.5 17.5 20 21
AD 20 30 40 50 60 75
AE a6 g6 a7 g9 g9 g1
AH 2 2 3 35 3 4.5
Order No. Bestell Nr. 1182-0001 1252-0001 1322-0001 1402-0001 1502-0001 1632-0001

The order number given includes 2 mounting brackets and 8 screws.
Die angegebene Bestellnummer beinhaltet 2 Stk. FuBbefestigungen und 8 Stk. Schrauben.

FB Mounting block

FB FuBblock

e A=Y
i & i & j @J N
S T = ©

2 v~ R i

M=l BLE = - /

Jel Ei L] @ w \

D B ’
. : ¢, -

p
2 18 mm @ 25 mm @ 32 mm @ 40 mm @ 50 mm @ 63 mm
A 30 42 52 63 78 93
B 23.5 33 41 51 63 78
C 14 22 235 30 39 52
D 10 15 15 15 16 20
E 14.5 17 20 23 26 27.5
F 5 7.5 7.5 7.5 8 10
G g4.5 @55 a7 g9 @9 a1
H1 6 6 6 8 8 8
H2 2 2 3 3 3 4.5
M3 x 14 M4 x 20 M5 x 20 M6 x 20 M8 x 20 M8 x 20
Order No. Bestell Nr.
1182-0005 1252-0005 1322-0005 1402-0005 1502-0005 1632-0005

The order number given includes 2 mounting blocks and 4 screws.
Die angegebene Bestellnummer beinhaltet 2 Stk. FuBblécke und 4 Stk. Schrauben.



